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Previously on Traffic Network Equilibrium...

The demand information for all OD pairs is commonly referred to as OD
matrix or trip tables.

The number of person trips are computed from the first two steps of the
four-step process. In the third step, these trips are assigned to different
modes (car, bus, two-wheeler etc.) resulting in a trip table for each mode.

But for equilibrium analysis, we assume that demand comprises of only
passenger cars. The demand of other types of vehicles are adjusted by
factors called passenger car units (PCUs) that reflect their sizes relative
to that of a car.
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Previously on Traffic Network Equilibrium...

So far, we have established that

If t(x) is continuous, the function projx(x — t(x)) has fixed
points.

These fixed points solve VI(t, X).

The last piece of the puzzle is to prove that the solutions to the VI
are actually Wardrop equilibria.
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Previously on Traffic Network Equilibrium...

x* satisfies the VI(t, X) < it satisfies the Wardrop principle

(=) Since x* satisfies the VI, t(x*)T(x — x*) >0, i.e,
t(x*)"x* <t(x*)"xVx e X

Imagine the path travel times are fixed at t(x*). The RHS, t(x*)"x is
the total system travel time (TSTT) incurred by the flow pattern x.

When the path travel times are fixed, TSTT is minimized if we route
travelers on least travel time paths between each OD pair. Thus, from
the above inequality x* is a Wardrop equilibrium.

(«=) Exercise. [ |
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Previously on Traffic Network Equilibrium...

The objective is convex in 7. (Why?) So the first-order conditions imply
that f'(n) = 0 at an interior 7.

NX+(1—n)x;
—_ Z/ ,'J )dw 0

('J)GA
= Z ti (0% + (1 —n)x;) (X5 — x5) =0

(iJ)eA

Solving this equation provides the optimal 7 (assuming it lies in the interior)
which then gives the next iterate.

Within each FW iteration, more computations are needed compared to
MSA but the overall number of iterations are reduced.
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Multi-Class User Equilibrium

Earlier, we assumed that traffic was homogeneous and converted the de-
mand for different modes into PCUs.

Can vehicle composition on a link affect link travel times for
different modes?

Is it possible to model equilibrium flows for different vehicle types?
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Multi-Class User Equilibrium

Imagine a network with two types of vehicles: cars and two-wheelers. Sup-
pose the flows of cars is x and x,j

Let the link delays for cars be tf(x5,x;) and that for two-wheelers be
t,j(xuc,x,j)
As before, we first try to find a convex programming formulation that gives

the equilibrium x¢ and xt.
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Symmetric Traffic Assignment

Unfortunately, it is not possible to formulate a convex program except
when
at;j(xE x£) B 6t,-§-(x9 x5)

SR Lap I (i) e A
8x,§- ox§ (7.J)

In words, the impact of an additional two-wheeler on the travel time of
cars is same as the impact of an additional car on the travel time of two-
wheelers.

The assumption is called symmetric assumption. Do the following BPR-
type functions satisfy this condition?

B
; 0 x,-j + 2x,-j-
t,-j(x,-j,x,-j) =t (1 +« <

. 2x5 + xt A
th(cf xf) = o (1+a(210001) )
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Symmetric Traffic Assignment

More generally, multi-class equilibrium falls under a class of problems in
which link delays are no longer separable and can be written as t(x).

The Jacobian of a vector-valued function t(x) is defined as

o on ot
Ox; ox; Tt 0x

o on ot
Oxq Oxo Tt OXm
Oty Oty Oty
Oxq Oxa U OXm

Under the earlier assumption, the Jacobian Vt(x) is a symmetric matrix
and hence this class of problems are also called symmetric TAPs.
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Equilibrium Conditions

We say that a solution (x¢, x*) is an Wardrop equilibrium if for each mode,
all used paths have equal and minimal travel times.
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Symmetric Traffic Assignment

The multi-class equilibrium problem for symmetric delay functions can be
solved using

1 % X
min 5 > (/ 6 (w, U)der/ t5(w,0) dw
h JO 0

+/0 th(x5, w) dw+/0 t£(0,w) dw)

Zyp ds v (r,s) € Z?

PEPs

Zyp rs I'S)EZ2

PEP:s
Y, 20VpeP
ye>0VYpeP
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Symmetric Traffic Assignment

1 % %
Ly XN ) =5 Y </0 o) do+ [ t5(.0)

(',j)eA

+/’M%WNW+/ UWUW>+2>CYp+zp
0

pEP peEP

+ Z lj'fs dfcsizyg + Z 1u‘£s rs ZYp

(r,s)ez? pPEP;s (r,s)€2? PEP:s
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Symmetric Traffic Assignment

Primal feasibility:

Z y;:drm Z y;:drsV(r,s)eZz

pPEPs PEP
ys>0,y, >0V peP

Dual feasibility:
Ap>0,A,>0VpeP
Complementary Slackness:
ApYp =0, /\pyp =0VpeP

Gradient of the Lagrangian vanishes:

> SRt xf) = g — g = 0V (r,s) € 2%, p € P

(ij)eA

Z 6 I_[? ’J AfJf/LﬁS:OV(r’s)ezapeprs

(iJ)eA
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Symmetric Traffic Assignment

From the last three conditions, eliminating g, for all (r,s) € 72, p € P,

D P (x5, xb) = p

(ij)EA

<Z§ U’U “r5>_0

(ij)EA

Similarly, for two-wheelers,

D Ot ) = w

(ij)eA
( Z 6 Xj» ;) /”Lr5> =0
(ij)EA

These are essentially conditions for Wardrop equilibrium.
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Solution Methods

The earlier convex optimization model was a simple extension of the Beck-
mann formulation.

Hence, both MSA and FW can be adapted to find the optimal solution.
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Asymmetric Traffic Assignment

The symmetric assumption is too strong since the flows for different modes
have differential effects on the travel times of other modes.

In other words, it is very likely that

Ote(xg, x5) | Oth(x5, x5)
i\ Xij Xij> Xig) s
T axe ) EA

y y

Such equilibrium problems are also called asymmetric TAPs and do not
impose any structure on the Jacobian of the travel times.

Unfortunately, it is not possible to write a simple convex programming
model for such instances.
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Asymmetric Traffic Assignment

For asymmetric TAPs, we will have to use Vs to model equilibrium flows.
We have seen that Vls have a solution when t(x) is continuous, but we
haven't discussed

Uniqueness of VI solutions
Algorithmic procedures to compute equilibria
We will first address these aspects by making an additional assumption

called strict monotonicity and then study a more relaxed version of the

problem.
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Asymmetric Traffic Assignment

The travel time mapping t(x) : X C R™ — R™ is said to be strictly
monotone if

(t(x) — t(x)) T(x—x)>0Yx,x € X,x £

If delay functions are strictly increasing in their arguments, it does not
imply that they are strictly monotone.

For example, consider t1(x1,x2) = x1 + 2x2 and t(x1,x2) = 2x1 + xo.
Evaluate the dot product at x; = 0,x =6 and x{ =5,x5 = 1.

Loosely speaking, strict monotonicity implies that the diagonal terms of
the Jacobian are large compared to the off-diagonal terms.
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Asymmetric Traffic Assignment

Let t(x) be a continuous function on a convex domain. t is strictly monotone
& jts Jacobian is positive definite.

(<) Using the mean value theorem, t;(x) — t;(x) = Vt;(z)" (x’ — x) where
z=x+w(x —x’)
= (xj — x)(t5(x) — t5(x')) = (5 — x;)Vi(2) T (x —x')

= > O —x)(E(x) — (<)) = D (x5 —x}) V() (x = x')

(i, ))EA (i ))eEA

:>(t(x)—t(x’)) x—x Z (x5 — Vtg z) (X—Xl)
(i.j)eA

=(t(x) —t(x)T(x = x') = (x — x)TVt(z)(x — x') > 0

(=) Exercise.
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Asymmetric Traffic Assignment

If t is strictly monotone and continuous, then a solution to the VI(t, X) is
unique.

Suppose not. Let x* and x’ be two solutions that satisfy the VI(t, X). Since
both flows satisfy the VI,

t(x*) (x —x*) > 0x e X
t(x) (x—x)>0xe X

The above two inequalities imply

(t(x") —t(x))"(x —=x") >0
= (t(x") —t(x)"(x" = x) <0
which contradicts that t is strictly monotone. |
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Diagonalization
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Diagonalization

Diagonalization is a FW-like method to solve asymmetric equilibrium prob-
lems. Assume that the travel time functions are strictly monotone.

For a fixed set of link flows, the delay functions can be used to get the
shortest paths and the all-or-nothing flows.

But since we do not have a convex programming objective, we cannot pick
a step size that minimizes the Beckmann function.
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Diagonalization

At each iteration, select an arc (/,j). Fix the flows of all the other arcs and
construct real-valued functions for the delay all the arcs in the network.

Suppose the flow at the kth iteration is (xf,xX,...,xX). Solve the sub-
problem in which the objective is

Z/ tL,Jx1 XX, xK) dw

(ij)eA

Let £;(x;) = t;i(x, x5, ..., Xj,...x5). Then, the step size 1) in the FW
iteration is obtained by solving

7 E(nkg + (1 —n)xg) (%5 — x5) = 0

(i.j)eA
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Method

The method is called diagonalization since the Jacobian of each of the
sub-problems is a diagonal matrix.
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Your Moment of Zen

_ L
WARNING
IT IS ILLEGAL

UNDER PENALTY

OF LAW TO
POST SIGNS ON

THIS POLE OR
BESIDE THE ROAD

CITYOF CHARLESTON ORDINANCE 4.2 ¢)

)
CHARLESTON CLEAN CITY COMMISSION
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